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Time allowed : 13 hours
Full marks : 90

Answer all the guestions.

Questions are of equal marks.

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

L.

This booklet consists of 24 pages including this front page. Verify the Page Nos. and Test Booklet Series
on each page and bring to the Invigilator's notice discrepancy, if any. This booklet contains 90 guestions
in 2 languages: English and Bengali. In case of any doubt/discrepancy in Bengali language papers you may
refer to the English versions.

Answers will have to be given on the Special Answer-Sheet (OMR Answer Sheet), supplied for the purpose,
which is in carbonless duplicate. Do not tear or seperate the duplicate sheet.

Before you proceed to mark on the Answer-Sheet in response to various items in the Question Booklét, you
have to fill in some particulars in the Answer-Sheet as per instructions sent to you along with the Admit
Card. Do not fold the Answer-Sheet as this will result in error in your marks.

All questions have four probable answers (A), (B), (C) and (D). Find out which of the four answers appear
to you to be correct or the best. Now darken the circle corresponding to the letter of the selected answer
in the OMR Answer-Sheet with Black Ball Point Pen as per instructions sent along with the Admit Card.

If more than one circle is encoded for a particular answer, it will be treated as a wrong answer.
Yath of the alloted marks (i.e. 0.25) will be deducted for each wrong answer.
There are blank pages at the end of this booklet for Rough Work.

The Special Answer-Sheet with its duplicate intact should be handed over to the Invigilator before leaving
the Examination Hall. You are permitted to take away the Question Booklet after completion of the
examination.
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1. @2 =iz TREREE A greEfia e @
i 30 o ATewE 2013 ©fane ol s =fS =1,
wra #1af wde off e

(A) 25 ="
(B) 15 &%
(C) 29 «Te%a
(D) =0 H@d 74

2. AHE B (40T ‘x4 A TS AT

2 4 3
4 5 4
3 6 2
18 54 X

(A) 18

(B) 16

(C) 27

(D) 14

3. 93 Fiff8 @e T999 T2 DARJEELING &
@4t T®W FCTLGGNKPI 43% R
GOVERNMENT @<l Z[1

(A) IQXGPTOGPV
(B) IQXGTPGOPV
(C) IQXGTPOGPV
(D) IQXGPTOGPV

4. G 93 FI0E F 97 (4= o9 3% S 97 (473 @ ol
wE | E 93 T G «@F (90F (@ 7% F 93 (9
% B WIR | (3 FAGE SfE9e

(A) 8
(B) G
(C) F
(D) E

5. MNHA @D @
(A) 909/1000
(B) 9-09
(C) 909/100
(D) 9090/1000

6. Eﬂg‘wmﬁwﬁﬁmﬁwmw
¥

gE1: o, FEa =0 g6 AEE A1

FE2: I, AR TS e FoeE wwE
HigFa WL |

(A) T=w IfE e
(B) If& 1
(C) &2
(D) Ten e g=

7. Ta wen wififes B (it w2 e T
Baf® =/ m

R | X

@D D |+ — | X{%k| o
Alal~ M @ 3 @
(A) 1

(B) 4

(©) 3

(D) 2

9. T wewalE o3 iR W AT =R | AE
weF o
1,4,9, 16, 25, 36, 49, ...
(A) 55
(B) 60
(C) o4
(D) 98
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10. He had to repent what he had done.
Fill in the blank with the most appropriate
preposition given below.

(A) at
(B) of
(C) over
(D) for

11. She is so that she easily catches cold.

use the correct word from the following to fill in
the blank.

(A) sensible
(B) sincere

(C) sensitive
(D) sober

12. Pick out the word opposite in meaning to the
given word— “Accepted”

(A) Rejected
(B) Considered
(C) Noted

(D) Followed

13. Choose the word nearest in meaning to the given
word— “Inedible”

(A) Polluted
(B) Unfit for human consumption
(C) Vitiated
(D) Eatable

14, Choose the exact meaning of the idiom/phrase
in the sentence—

The prices are going up by leaps and bounds.
(A) Irregularly

(B) Gradually
(C) Rapidly
(D) Systematically

C-12

15. He chose the path of religion of his own accord.
Choose the exact meaning of the underlined

words in the above sentence from the following.
(A) Forcibly
(B) Helplessly
(C) Half-heartedly
(D) Willingly

16. Out of the given alternatives, choose the one
which can be substituted for the given sentence
One who hates mankind.

(A) Philanthropist
(B) Misanthrope
(C) Cannibal
(D) Terrorist

17. The car suddenly.
Fill in the blank with an appropriate choice from
the following.
(A) broke off
(B) broke down
(C) broke out
(D) broke up

18, 752 v oo e siwafFm A o o
AC, FH, KM, PR,

(A) UW
(B) VW
(C) UX
(D) TV

19. Why did you not spoken to me earlier?
Correct the sentence by using the following one.

(A) did not spoke

(B) did you not spoke
(C) did you not speak
(D) were you not spoken
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20. Since we are living in Bombay, we are unwilling 26. s b wifere cure wie Tex Mdion o ¢
to move to another city. = o
Replace the underlined words in the above ¥
sentence by the appropriate words given below: a. SA0eY Al 1. 65 =7 T #fE
(A) Since we have been living fasra=if@
(B) Being that we are living b. FMTETH TRrFhe Rl 2. 62 T2 795 w1y
(C) Since we were living c. SRTEH FEEE WS 3. 6 LT A1 65 IL7 T
(D) None of the above i e-niee ofs—aa g ot =
LI
21. HIV %e@maet Tsa emiba aral sy geis #ia ¢ d. FregHE 4.5 7%
(A) =3 =il T Codes:
(B) FHiutae cA5I9E I FA0A @ m (e (d
(C) <7 ©ist 3 C4TA (A) 1 2 3 4
22. 1. 9% T¥ CO, 97 I ot (©€) 2 1 3 4
2. WG 9T ETS ASAFACR G I I T (D) 3 2 4 1
3, T (U0 (ST 9T 9% TR (90T e
Teitam wupoleE @/ e e 27. e @D e Twenm g T ARedra e
(A) @ 1 e
(B) v==12 (A) CFC fasfam
(C) 1432 (B) FIEA-BlR-=wiRE fsfm
23, “wrev A @7 sum Soen = e
(A) e 2 e B 28. He was advised to abstain all alcoholic
(B) FaFvea Taee drinks.
(C) efilm =fimrm GrEw Fill in the blank with most appropriate
preposition from the following.
(D) “ifE= wEs T @) in
24, ©RTe W{w e Nva @ oot 7w 7o (B) at
(A) ™ G2 =1 AW (C) from
(B) (SR 3% THAE TeAWE (D) by
(C) 1 432 51 TerAWT
29, Questions will be answered by a of
(D) Bt @32 TfF TerAmm i
25, Atow Fdew el orema witem Fill in the blank in the above sentence by an
(A) chfers wfiera appropriate word given below.
(B) FElaies witaa Rl M
(B) panel
(C) =i wftwr (C) bunch
(D) FreiRe wigwE (D) band
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30. 1930 HIE FZE SR WiEA WA W oF
T
(A) CTRISTE
(B) wif&rs
(C) AaFufers
(D) eudirs

31, IEwA TeiEE (1928) 7 T
(A) FHR FEESIE A

(B) wEra st
(C) TreelE (& A=
(D) W= (71T
32, “lipe wifeRe w6 (U (SfFEL] 93 EFEeLlD)
s craw @ T Fs Taa fodioa o2 ¢
wifer-1 wrfert-il
(SrETEa T GEI) ()
a. AfFw ].‘ETEWHT{
b, FATG 2. ftam
c. BiFmY 3. ATTHS
d. 4. w5
5. BfEG
Codes:
(a) (b) (c) (d)
(A) 3 4 2 5
(B) 2 5 1 4
(C) 3 5 2 4
(D) 2 4 1 5
33. o fobifm eiam e BfFem w0
TrfEa s
(A) fEbifam C
(B) f&oifim A
(C) fEofim B
(D) f&oifm K
34, 3 €317 GIF WSt @R T (eRE G ArRe
gﬁnmmﬁmw{:ﬂm “tenra T
(A) afesad
(B) feremist
(C) wreTgar o sfewram
(D) fRwgae
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35, Ta wifE 5t (4 e Ten Fdna o ¢

wifEr-1 wifeer- 1l
(=mifHe) (Bex)
a. #nehe e 1. c&ga
b. BrEbES wniEE 2.9
c. ST wite 3, DGt
d. wizfhE =nhe 4557
Codes:
(a) (b) (c) (d)
(A) 2 4 3 1
B 2 3 4 1
(C) 4 3 1 2
(D) 4 1 3 2

36. sz creat 4 wifEr (U Afde Tere i A —

wiferel-1 (e =) wifer-11 ( 20Ea A1)
a. T4 &910&3 FHos 92 1. 9%
b. (14 &I I8 92 2.3
c. TR S90S 3 (1T 3 I
a8 oz
d. 7 Fetea o2 4. gt
5. =
Codes:
(a) (b) (c) (d)
(A) 2 3 5 1
(B) 3 5 1 2
(C) 4 1 2 3
(D) 4 3 2 1

37. 1943 AiCA 2f%wE ot il (INA) Sraes

a4

(A) EI
(B) 2
(C) Frmera

(D) =
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38. 10% wfere A <3 ¥t B & ffes o021 B @ o
C @ 10% =nre RfEF 221 @ wiw C Rl R/
% Wit Tt A R a2@ wa o woeT W oo
(A) 10%

(B) 20%
(C) 5%
(D) 1%

39. Sitsa b chfes e e
(A) 43
(B) 53
(C) 85
(D) 71

40, 24w 15 © R 7 «u
(A) 18
(B) 15
(C) 20
(D) TeiEa WL 7

41. 30 % AMFRIT TEIT 516 13 97 | SIFR 242 18
GHE P 5T 15 T2 | M 12 S W0’ 1
(A) 12 3%

(B) 10 7=
(C) 16 7R
(D) 10-5 Te=x

42. W =B =g ﬂm“:*‘:maﬂm
(A) &

(B) 1

(C) 3

(D) ©Hraa @WbE

43. T 2.04 Wi =f® Remdm s Aoy o B
¥ 2.88 Witw st & wepeiiee Gete & Remsms
fifers st A T T2.52 ¢
(A) 2:3
(B) 3:2
(C) 5:3
(D) 3:4
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44, A 932 B <=0 TR 3.2 weie R 3
A (W ACST 5% WH FA GR A GF TS
*ifF1et T 4,275 2= GiG #wea At

(A) ¥8,000
(B) 7,700
(C) ¥ 7,500
(D) ¥ 6,500

45. T WA 16 9% 33 316 I 12 T @1 FAE
T 33,600 TSR I (@A Mifes 12 %1 g Fer
A 18 T FIF AYNE @ATHAE A3

(A) T40,000
(B) ¥ 35,000
(C) T 28,800
(D) ¥37,800

46. X 99 8%, Y 99 4% 99 T4 TA X @7 20% A
(A) Yo7 10%
(B) Y97 15%
(C) Ya7 20%
(D) Y49 25%

47. Trwa o = e o e Sesivm e
(A) gore
(B) FTHTEr
(C) o=

(D) =134

48, AT TG farw 41919 TuE viET Ie i
(A) wotEfifmms wa
(B) c=re) =it
(C) F1 =
(D) TsT=FmE &
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49, g=f oM @ITea SPE 2% w5 60 i am
3% (FAE A & 9B TG 3% 918 WA | fEm
e o s
(A) 25 fafa/ a1
(B) 15 Tl =%

(C) 20 /=1
(D) 10 f&fa/ 9%

50, BrE 10 6 32 winem e ¥m 9o [uret 40%
wire o2 | 5 B Feaf winem Fwieme
(A) 14
(B) 246

(C) 30
(D) 107

51, A A T (I AL 20 q97A 3 0 T | 9
R R TS A & e Hed I
(A) 83ER
(B) 10753
(C) 1237
(D) 14 787

52. 95 FUE AT 3:4 G2 ALY, 4| FeA 4R
fnALS,
(A) 12
(B) 16
(C) 48
(D) 24

53. No one can bear an unprovoked insult. The
appropriate interrogative form of the above
sentence
(A) Everyone can bear an unprovoked insult.
(B) Can you bear an unprovoked insult?

(C) Who can bear an unprovoked insult?
(D) Would you bear an unprovoked insult?

54. He runs as fast as a deer.
The comparative degree of fast is used correctly
in the sentence
(A) He runs faster than a deer.
(B) A deer cannot run faster than he can.
(C) A deer can run faster than he can.
(D) None of the above.

§5. The sun rose. The fog dispersed.

Which of the following sentences is correct, if
the above sentences are joined in the form of a
simple sentence?

(A) When the sun rose, the fog dispersed.

(B) The sun having risen the fog dispersed.

(C) The fog dispersed when the sun rose.

(D) As the sun rose, the fog dispersed.
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56. The boy said to his mother, “Where are you
going?”
Select the correct form of the sentence if changed
into indirect narration.
(A) The boy said to his mother that where she
was going.
(B) The boy asked to his mother where are you
going.
(C) The boy asked his mother where she was
going.
(D) The boy asked where she was going.

57. A boy was by a motor-car.
use the appropriate words in the blank.
(A) run into
(B) run over
(C) run at
(D) none of the above.

58. Do the work at once.
The correct form of the sentence in passive voice
15—
(A) You are directed to do the work at once.
(B) Let the work be done at once.
(C) The work should be done at once.
(D) At once the work be done by you.

59, @% qf% P (9rF Q #¥ G0 TR 9 Q (WS P (S
e a3 O O IeEne QI AEE & 16
951 | g uaeie = oifEne Ten = ¥R @
4 951 T o weel | 1R qrew S @REE E2n
FF T(E HIY AN
(A) 15 9%1
(B) 20 9%

(C) 18 9%1
(D) 129%1

60. 4% Gz ) TeveTe 80 5 @32 90 fibr | e
e 10 fibm/ciree a3y 7 fbR/oTs
siferarst *r=ar e affe o= 3 W
AT ST TAA?

(A) 20 =&
(B) 15 Fee
(C) 17 CTE
(D) 10 A==
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61. FrETFE TR T FEm
(A) TSt
(B) el
(C) Rumerer o o
(D) Fumsizamm Fdbe swopss

62. ST =Y T2 IFA
(A) Srarsd oym sl
(B) ©RTTH AMg-ifE
(C) ZRrFha eum fasrasife
(D) TeueTe wys

63. 306 v it wa-TdE T 10% TE, 14 S
3T W | & @S B-ad T T
(A) 3:2
(B) 5:2
(C) 2:1
(D) 4:3

64. AT 9T TR T (I 2ANA TFS 0
(A) cafe 2t
(B) =@ 2
(C) =i el
(D) WSt 25T

65. e P SRt e e
(A) % féme
(B) ¥ fem
(C) coithrmm fig
(D) 5t gy

66. (I TFA 20% T % “NeTT IFHI JIZ 20%
T THE | S9N T W A
(A) <%
(B) 4% ¥9
(C) 4% =it
(D) 8% cZ4i

67. i Trdin wfEAT SN GeEss T wE
(A) G BAE
(B) IMHE =
(C) =rafe om
(D) @, 3. fF ==
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68. 88w fAerey b1 wrEw JTEw Ao ==
(A) 9944
(B) 9678
(C) 9988
(D) BB8B

69. 1-2+3-4+5-6+7-8+
1000 #f8 Fe2a WA WA
(A) —450
(B) - 500
(C) -550
(D) s =1 7eg

70. ﬁﬁﬁﬁﬁﬂ%ﬁlﬂﬁﬁ%ﬂﬁﬂh'ﬁﬂﬁﬁm:
TR

el

M

D

5
(A)
(B)
(C)

= Hlo Blo Blo

(D) el

71. 2013 AFE ACe9d THeNeU=a 799 [SRO-7
G W
(A) T2 (39 =
(B) &: 3T =, Me

(C) @ (. AT
(D) ©: &, Te==

72. (0 A ¢

(A) wEE
(B) Ar%=a
(C) «fem
(D) wr=93

73. WG AT A BiA W =W
(A) wTFTR
(B) etz
(C) e
(D) arprets

74, e wrélm «if wafe
(A) s v
(B) Tamamm
(C) F=fioce
(D) &H
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75. @A e 3606 g Rfr e 4% =
fafes v »fe =1 | o2 o wfez sfFmd

(A) 10%
(B) 11%%

(©) 12%%
(D) TR WbE T

O sy
B B
X

(A) 35
(B) 37

(€) 45
(D) 46

77. The word opposite in meaning to ‘Kind' is
(A) Honest
(B) Famous
(C) Similar
(D) Cruel

78. I FEAE TFAMCE 4, 5, 6 T4 151 T T
2, 36 4 ST 4T | A =\

(A) 214
(B) 476
(C) 954
(D) 1908
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79. Which of the following sentences is correct?
(A) There is a university in Kolkata
(B) He is a university student
(C) A university will be established at Asansol
(D) None of the above
me.

80. My brother is younger i
Which of the following words will be appropriate
to the above sentence?

(A) than
(B) by
(C) with
(D) to

81. w%m 72 B @t 110 o= vind= 9= G= 132
it T e wfvws =20e s g
(A) 9.8 (2
(B) 12.1 &3
(C) 124200
(D) 14.3 A:

82. I, who your superior, should be respected.
Fill in the blank with the appropriate words
given below:

(A) am
(B) is

(C) are
(D) was

83. @ e IEe AR wgere 7:5) 1% @
e b e 2400 2 o AfFm e
T
(A) 500
(B) 200
(C) 1000
(D) 700

B4, (I AR 2 WS (AF T T A 932 T TH
T (T 5 1 ZITA SI0E | SR+ Sge wAfada
T G GRS (40 1999 T 4 | A (e
T S
(A) 21®%

(B) 19%%
(C) 23=w
(D) 209
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85. Murderer of one’s father is
(A) Fratricide
(B) Patricide
(C) Homicide
(D) Matricide

86. Fyewa weanef ool Rom Fam reen @)
o FITA e A e |
18 15 17 19 15 14

[

(A) 421
(B) 561
(C) 322
(D) 221

87. AT T 95 WA 200 Tz 79w &= 5 e

T 30 T T (AT BT (9 | Fofhe &
TAY HEICA P

(A) 180
16
(B) ZHSE
(C) 139
(D) 28.5
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88. di5a oreW WwARARTT =T Gw Tidyw
A% B ¢
(A) =ifS 3 A
(B) (6 3 THE
(C) e & i
(D) STAMEA & B

89. Raman is the better the two boys.
Fill in the blank with appropriate words given
below:

(A) than
(B) in
(C) to
(D) of

90. He lost his mother as soon as he was .

Fill in the blank with the appropriate words
given below:

(A) bormme
(B) bear
(C) bom
(D) bore
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